Autosomal Dominant Inheritance:
An autosomal gene is a gene located on a numbered chromosome and usually affects males and females in the same way. Autosomal dominant refers to how a particular trait is inherited. The word autosome refers to the non-sex chromosomes. In humans, those are Chromosomes 1 through 22. So an autosomal trait is one that occurs due to a mutation on Chromosomes 1 through 22. Dominant means that you only need one copy of a mutation in order to be effective. Some autosomal dominant traits that individuals may be familiar with are neourofibromitosis Type I, Huntington disease, and Marfan syndrome.

There are two copies of every autosomal gene. Both copies of the gene send a message to the cells to produce a particular product such as a protein. Individuals who have a dominant mutation on one gene, and a working copy of that gene on the other partner chromosome, will be affected by that condition despite the working copy. Therefore although one of the gene copies is correctly sending the instructions to make the gene product, the other copy with the dominant mutation is not sending the correct message and overrides the action of the working gene. If a person has an autosomal dominant gene mutation, they do not have the ability to make enough of the correct gene product and will have symptoms of the genetic condition from birth or be predisposed to developing the condition later in life (depending on the gene involved).

Humans need two copies of each gene in order to have the correct balance of DNA (with the exception of the sex-chromosome genes). One copy of each gene is passed to a child from their mother and the other from the father. The possible gene combinations a parent may have for a dominant gene are-
Homozygous affected- Both the alleles are muted (DD)
Heterozygus affected- One allele is muted and the other allele is normal (Dd)
Normal person- Both the allele is normal working type (dd)
Where, D represents the autosomal dominant muted allele, and d= normal working allele

If one parent has an autosomal dominant gene mutation (heterozygous affected)-
 In this case, in every pregnancy there is:  
1. 1 chance in 2 (50% chance) that they will have a child who inherits both copies of the working gene from his/her parents. In this case, the child will be unaffected by the condition  
2. 1 chance in 2 ( 50% chance) that their child will inherit the dominant gene mutation and the working copy of the gene from the parents and he/she will be affected or predisposed to developing the condition caused by the gene mutation.

 If both parents have the autosomal dominant gene mutation (heterozygous affected)-
In this case, in every pregnancy there is:  
1. 1 chance in 4 (25% chance) that they will have a child who inherits both copies of the working gene (dd) from his/her parents. In this case, the child will be unaffected by the condition 
2.   1 chance in 2 (50% chance) that their child will inherit the dominant gene mutation and the working copy of the gene (Dd) from the parents and he/she will be affected or predisposed to developing the condition caused by the gene mutation, like their parents
3.   1 chance in 4 (25% chance) that they will have a child who inherits both copies of the dominant gene (DD) mutation from his/her parents. Depending on the condition, the child may be more severely affected than their parents, or may not even survive, and/ or have a younger age of onset for conditions that develop later in life. 
If any one of the parent is Homozygus affected (DD) then all the children will be affected (DD/Dd, depending on the other parent. A number of conditions follow this pattern of inheritance in families. While some are obvious at birth, in other cases the symptoms do not appear until much later in life. Neurofibromatosis type 1, achondroplasia, Huntington disease, inherited predisposition to breast, ovarian and bowel cancers and familial hypercholesterolaemia all follow a pattern of autosomal dominant inheritance.
